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QUESTION 1

When the "\\'Obtain the Visitor\\'s Real IP Address" function is enabled in Alibaba Cloud SLB For layer 7 services, you
can obtain the real IP addresses of visitors through the field in HTTP header

A. Connection

B. Authorization

C. Etag

D. X-Forwarded-For

Correct Answer: A

QUESTION 2

When a customer uses Alibaba Cloud Object Storage Service (OSS) service and finds there exist an amount of Internet
downstream traffic, he/she can use Alibaba Cloud Content Delivery Network (CDN) service to reduce the traffic cost.
Because the Internet traffic cost of CDN is lower than that of OSS, moreover, the back-to- source traffic cost from CDN
to OSS is also lower than a user access to OSS directly.

A. True

B. False

Correct Answer: A

QUESTION 3

A company launched its online service just a year ago. It uses five ECS instances and does not have a full-time system
administrator Over the last six months, the company\\'s system has encountered various security problems Several high-
risk vulnerabilities were exploited by hackers, leading to leakage of the company\\'s confidential data. Which of the
following Alibaba Cloud products can be used to quickly resolve this problem?

A. Managed Security Service

B. Cloud Firewall

C. Anti-DDoS Pro Service

D. Security Center

Correct Answer: B

QUESTION 4

When using Alibaba Cloud SLB. you can set different weights for backend ECS instances The higher the weight of a
backend ECS instance the more load will be assigned to it An SLB instance has 5 ECS instances in the backend server
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pool, all of which are healthy Among these 5 ECS instances, the weight of ecs_instl is set to 100. Which of the following
statements is correct?

A. Based on request level parameters of external requests, all requests with a request level parameter of 100 will be
transferred to ecs_instl

B. Based on SLB\\'s working mechanism, approximately 20% of loads will be assigned to ecs_instl
C. We do not know the weight settings of the remaining 4 ECS instances, so we cannot tell what would happen
D. 100% of loads will be assigned to ecs__instl, and the remaining 4 ECS instances will stay idle

Correct Answer: C

QUESTION 5

Alibaba Cloud Content Delivery Network (CDN) performs content acceleration with the support of intelligent DNS
resolution The following function is NOT included in intelligent DNS resolution.

A. A user request is directed to the server nearest to the customer based on location information of the pre-configured
IP section.

B. The intelligent DNS resolution can parse the same domain name into different IP addresses based on the IP of
different visitors.

C. The intelligent DNS resolution supports web page content caching. A user will receive data from the origin site at first-
time access, and then will be reading data from cache in subsequent requests

D. If a user activates mirror sites in different IDCs, intelligent DNS resolution can achieve load balancing by guiding
customers in different places to different mirror sites.

Correct Answer: D
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